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(Knowledge Base)
:

RULE 1:
IF the car will not start
THEN the problem may be in the electrical system

.
RULE 2:
IF the problem may be in the electrical system
AND the battery voltage is below 10 volts
THEN the fault is a bad battery
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STEP 1:
Expert System : Does the car not start?
USER : True

 :

 : .
User Assert : the car will not start
System Assert : the problem may be in the electrical system

 :.

 :
STEP 2 :
Expert System : Is the battery voltage below 10 volts?
USER : True
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 :
USER ASSERT : The battery voltage is below 10 volts
SYSTEM ASSERT : The fault is a bad battery
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(Explanation Facility)

 .

1.(Explaining How)

2.(Explaining Why)

:

EXPERT : The battery is bad.
PERSON : How ?
EXPERT : Since your car wont start I assumed there was a problem with the electrical system . once I found  the battery voltage was
below 10 volts I knew the battery was bad.

.
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:

:
EXPERT : Will the car not start?
PERSON : Why?
EXPERT : If I know that the car wont start then I usually assume the problem is in the electrical system.

:

:  

(Interface) :

He who has a why can endure any how.
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